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B.Sc. EXAMINATION
(First Semester)
CHEMISTRY
Paper 1 (CH-101)

Inorganic Chemistry

Time : Three Hours Maximum Marks : 27

Note : Q. No. 1 is compulsory. Attempt four

questions from Section A and Section B,
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() Which of the following has smallest size
Fe, Fe'? and Fe'?

() Give the Hybridisation of central atg

in SO.. ”\ |

(©) What are the electron = deficient
f.’.f "

campounds e |

and anions 1in Calcium Fluoride Structure.

(8) What kind of Hydrogen bonding is gt

present 1 p=chlorophenol ? 1 x7=7

Section A

2. (@8 What can be maximum number of =
electrons in the following orbitals : o |




(a) Which of the following is ¢
Oor paramagnetic ?
(i) ANz =13)
(ii))” Co™d (z =27)
(iify Ni*? (z = 34),

(b) What is meant by Normalization j
Orthogonality ? I

4. (a) Define electronegativity and discuss

Pauling scale of electronegativity.

(b) The electron affinity of Noble gasad are
| zero. Why ? E
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Section B

Discuss MO lthem?/ Explam cm he |




7. Calculate t.‘pe lattice energy f
from the following data by use of

cycle :

Sublimation energy = 108.7‘kJ'/m,
Dissociation energy of Cl, = 225.9 kJ/m,
Jonisation energy of Na(g) = 489.5 kJ/m,
Electron affinity of Cl(g) = 351.4 kJ/m,
Heat of formation of NaCl = —414.2 kJ/m.
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